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Part A:

Directions: In questions 1-10, each item consists of an incomplete sentence. Below the sentence are
four choices, marked (1), (2), (3), and (4). You should find the one choice which best completes the
sentence. Mark your choice on the answer sheet.

1- The examination was so difficult that ---—--- .

1) few people failed 2) few people passed
3) only a few failed 4) little number of people passed
2- He was working in the office while I ~-—-— in the library. ‘
1) was 2) am 3) had been 4) have been
3- Staying in a hotel costs —-—- renting a room in a dormitory for a week.
1) twice more than 2) twice as much as 3) two times as much 4) two times more than
4- Some people are never content --—-- what they have.
Dot 2) for 3)with 4) about
5- Smoking again? You told me you ---—----ne—v smoking.
i) éave up 2) had on 3) gave back 4) have back
6- It was very ----—-- so I put on my sunglasses.
1) dark 2) late 3) early 4) bright
7- I'dlike to ------- that book when you have read it.
Iylend 2) loan ' 3) hire 4) borrow
8- When[ - up the bill, it came to more money than | had with me.
1) added 2) checked 3) counted 4) calculated
9- It was getting hot so I decided to sit - '
1) by the fire 2) in the shade 3) near the stove 4) in the sunshine
10- She had to ——---- sugar in his coffee because she was on a diet.
" 1) do with 2) put up 3) do without 4) put down
Part B:
Directions: (Questions 11-15) In the following letter some words or phrases are missing. Under the
letter there are four choices for each item marked (1), (2), (3), and (4). You should find the one
choice which best fits in the blanks. Mark your choice on the answer sheet.
Dear sir,

Regarding our conversation the other day, it was good to hear from you and to {(~—11—) the
arrangements for Tony’s visit. I have (——12—) the schedule JSor Sunday’s visit to Boston.

With reference to the aforementioned visit, I'm writing to say that Pll (—13—) Tony from the
airport on Saturday night and (——14—) him 1o his hotel, I'll see him on Sunday at his hotel at 8 AN,
Can you fax him and let him know what’s happening on Saturday and Sunday? I (~—15—)
grateful for your help in this matter.

See you then.

Yours since}ely, ‘

11-1) figure 2) find 3) find out 4) figure out
12- 1) attended 2) attracted 3) attached 4) altered
13- 1) collect 2) prevent 3) conduct 4) pretend
14-1) lead 2) take 3) carry 4) transport

15-1) will be 2) may be - 3) would be 4) might be
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In decision making, a single solation or decision may be quite rational for one but irrational for another.
The statement implies that e,

1) decisions vary 2) rationality is relative

3) no solution can be a real solution 4) no two people follow the same trend

Despite the existence of theoretical difficulties with the hypothesis,
istrument of prediction,

The pronoun “it”, (underlined) refers to -----—,
1) existence 2) hypothesis ’ 3) instrument 4) prediction

We strongly favor fair compensation to victims of manufacturing defects, despite the financial costs it involves.
The statement seems t0 —--—.

experimenters have found it useful as an

1) support cosumers 2) sﬁpport manufacturers
3) deny the consumers’ rights- 4) deny the manufacturers’ rights
Some decision makers think optimistically about the events that influence decisions, Such individuals always choose

the alternative that maximizes the maximum outcomes. That is to say, they always act as thoogh no matter what they
do everything will come out to their benefit; consequently, why not g0 for broke, because they cannot, so they believe,
g0 broke. A publisher using this criterion for decision making prints the maximum number of books expecting that
they will all be sold.

A publisher has printed more than five thousand copies of a particular book hoping that all will be sold whereas
themarket{vdmandsdomtmedthmeﬂwusandwpia.
According to the text, the publisher has been - about the future,
1) overqualified 2) overoptimistic 3) overpessimistic 4) underqualified

A multisource concept for unifying procurement and inventory operations is the overarching theme of this book.
This multisource concept is applied by déveloping a hierarchy of systems and supporting models, all based on the
general effectiveness function as presented in Secﬁon 1.4. Figure 9.1 illustrates this effectiveness function with the
System parameters bifurcated into source dependent and soarce independent subsets, It is this explicit recognition of
source—dependent parameters that makes possible the utilization of a wide range of inventory models to make source
decisions.

At various points in the derivation of models, notations were made about the reduction of the derived results to
simpler models developed earlier, In Table 9.7 we bring-most of this hierarchy of models together for quick reference,
All of these models can be discussed and described in terms of the effectiveness function structure exhibited in

Figure, 9.1. Most can be applied to source determination by explicitly identifying the source—dependent parameters,
The main idea presented in the above passage ------- .

1) introduces the idea of bifurcation

2) tackles the issue of effectiveness

3) deals with points in derivation of models

4) deals with the hieraréhy of models in procurement system

The two paragraphs used in the text are most probably parts of the ----— .

1} conclusions made on a book 2) final chapter of a book

3} introductory chapter of a book 4) outlines listed to a book

As noticed from the text, it seems that a -—---- accompanies the text.

1) table 2) theme 3) figore 4} hierarchy
The word “bifurcated” (line 6) is closest in meaning to ~----—- “

1) brought into 2) forwarded to 3) pone through ‘ 4) divided into two
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Input Design

The old saying, “GIGO (sarbage in, garbage out)” is very true. The higher the
quality of the input data, the more likely that the user will receive high quality
output from a computer system. The forms and visual display screens can have
a positive or a negative impact on the quality of input data.

~ Input Design Objectives. Any input design should meet several objectives
including (1) accuracy, (2) effectiveness, (3), consistency, (4) ease of use, and (5)
simplicity. If an input design can be completed correctly by an experienced
Person or a novice then it meets the criterion of accuracy. Effectiveness refers to
the issue of whether the input screens or forms serve a useful purpose in the
information system. If no purpose can be cited, then they are probably neither
needed nor effective, Consistency refers to the practice of always grouping data
in the same manrer from application to application. Ease of use means that the
screens and forms are simple and straightforward to interpret and utilize. This
relates to the fifth objective, simplicity, which refers to keeping the screens
purposefully organized and uncluttered so that the user can readily determine
how to enter the data into the system. A discussion of the dialogue between the
MIS and the user is provided later in this chapter, '

According to the text, there is a ---—-— between the quality of the input data and the quality of the output received
from a system., .

1) constancy 2) frequency 3) positive correlation 4) negative correlation
According to the passage, in order to achieve accuracy and to satisfy the conditions, designers should be ---—--.

1) experienced and highly qualified ' 2) constantly in contact with novices

3) supervised by experienced designers ‘ 4) familiar with criteria which are commonly used
According to the passage, to appreciate the -----——- of a design the system needs to be goal—oriented.

1) acceracy 2) simplicity 3) effectiveness 4) consistency

The word GIGO, as it is used in the passage, is a/an -—-—-- used to refer to the idea of “best in, best out”,

1) acronym 2) symbol 3) synonym 4) abbreviation

According to the passage, if the input design leads to the same outputs every time it is applied, then one can, 10 some
extent, be sure that --—--- is observed.

1) accuracy 2) consistency 3) effectivenes ) 4) straightforwardedness
. A computer system which contains too many details, elements or subsystems is said to be -,

1) ill—formed ‘ 2) clutiered 3) uncluttered 4) well—organized

The paragraphs, as used above, are most probably the ------ paragraphs of a passage.

1) last 2) input 3) output 4) beginning
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READ «, M, N

2 K=MODM,N)
IF (K.EQ@)THEN

PRINT N
STOP
ELSE
M=N
"N=K
END IF
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END
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Fuction TEST (X : REAL): REAL ;

begin
TEST : = X;
if X <« 0 Then TEST := - X
end;
X als ) obass (F X sl ,aa (¥

While NOT EOLN do begin
READ (CH);
if (CH >="A") AND (CH<="z") then
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CH:= CHR (ORD (CH) — ORD ("A") + ORD ('a"));

WRITE (CH)
end
end.
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S:= 0
while M >0 do
begin
$:= 3 + M _mod 10;
M:= M div 10
end;
WRETE (5)
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# include <stdio.h>
main ()
{
int i=5; int j=2;
float p=ifj; printf ("%f", P);
}

# include <swdioh>
main () ’

for (int i=0,i<=10; i++);
printf ("now iis %d", i);
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# include <stdio.h>
main ()

int i=2;int1=3;
if (i=3) 1=2;
Print f ("l = %", 1);
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# include <stdio.h>

main ()}
{
int i=2;int1=3;
if (i=3)1=2;
Print f ("i = %d" ,i);

phoSzes (¥ =5 Coi=3 _ i=20

ol dnlys ol 4z g gy daliys Sl ll NEY

# include <stdio.h>
# include <math.h>
main ( ) {

double a =40 b =20 ,¢

int d;

c = pow (a,b) + sqrt (a};

d = {{int)c) %5;

printf ("d = %4",d );

return(0);
}
d=4¢(f d=3( . d=72( d=10
kel o Glz o295 50 g Glen (gt D9 b A(TD, 5) 015558 Gl palic o g jlSelas AEY
WRITE (6, ) ((AQ,D) , T =151, 1 = 1,10,1) (¥ WRITE (6 , ) (A(LY)},J = 1,51), 1= 110,)
WRITE (6, ») ((A(LJ), 1 =1,102),3 = 1,52) (F WRITE (6, ) (ALY, 1 =1101) , ] = 1,51 (7

:plie Al larsll VEE
FUNCTION K{N)
M = :

W M=M+1
Do 2 I=2 ,M/2 1
IE (M ~ M/I+],EQ . @) GO TO 10
2 CONTINUE

K=M
RETURN
END
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Procedure P(x:real ; OP:char ; Var: real)

begin
if (OP = “«") then
Y= X+ X X
else if (OP = “+7) then

y=x*X*x — 100

end; .
Aoy pglze (F 2775 (v 16.5 (¥ 6.5 (A
b anlss oy 4 20, T il ) iy JEl by Sy I e ST N0
ar= 4234, _
b= 10;
while (a4 <> 4) do
begin
d:=a mod b;
write (d:1);
a:= a div b;
end;
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